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Q.1 In agroup there are six girls P, Q, R, S, T and U. Each of them drives one car among C1, C2,
C3, C4, C5 and C6. None of them drives same car. P don’t drive a even numbered car. S
drives C4. Car C5 is driven by either R or U. Q drives C1. Car C2 is not driven by T. Which car
are driven by P and T respectively?

Ans X" 1.C6,C3

o 2.c3,ce
X 3.c1,¢5
75 4.05,CT

Question ID : 71939921640

a—— —

Q.2 Ramesh rotates 120° in clockwise direction. He then rotates 340° in anticlockwise direction.
He again rotates 193° in anticlockwise direction. Now he rotates 320° in clockwise
direction. If he is facing in south direction now, then in which direction he was facing
initially?

Ans \, 1. North -west

K 2. North

K 3. South -west

K 4. West

Question ID : 71939921649

Q.3 Average of eight batsman J, K, L, M, N, O, R and T is compared. Number of batsman having
average less than L are same as the number of batsman having average more than M.
Average of T is less than M and more than K. Average of L is less than K. Average of two
batsman lies between the average of M and L. Average of O is less than N and K both.
Which of the following can be correct sequence of their averages?

Ans X" 1. J>N>K>T>M>L>R>0
X 2. R>J>M>K>T>L>N>0
K 3. J>R>M>T>L>K>N>0

o 4. J>R-M>T>K>L>N>0

Question ID : 71939921641

Q.4 In acertain code language, ‘Aman is looking smart’ is written as ‘lk pm ta rm’, ‘Smart is
young' is written as ‘ht ta Ik’, ‘Young are boys’ is written as ‘po ht ra’. What is the code for
‘Young’ in that code language?

Ans x 1.ta

@Teacningninia.in




XZ.po
p A
 4nt

Question ID : 71939921638

Q.5 Prem walks 10 km towards north to reach the shop R. He turns right and walks X km. He
now turns left and walks 12 km to reach the shop P. If the distance between R and P is 13
km, then what is the value of X?

Ans X1 4km

X 2.7km
W 3.5km
/5 4.3km

[ Question ID : 71939921648

Q.6 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I.All J are P.
Il. Some K are P.
Ill. No G is K.

Conclusions:
I. Some K are not G.

Il. Some J are K.
IIl. NoKis J.

Ans X 1. Both conclusion I and Il follows
x 2. Both conclusion Il and IlI follows
X 3. Only conclusion Il follows

J 4. Only conclusion | follows

[ Question ID : 71939921643

Q.7 Five chairs K, L, M, P and R are kept one above the other (not necessarily in the same
order). P is just below R. M is just below L and just above K. There is no chair above R. How
many chairs are below L?

Ans 1.0
X 2.3
W32
X4

[ Question ID : 71939921639

Q.8 By interchanging the given two signs which of the following equation will be not correct?
+and +
Ans X" 1.14+13-11x32+22=11
K 2.16+24x3+15-16=1

25 3.11+5%x63+7-14=42
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o 415-9+4x16-2=47

Question ID : 71939921645

Q.9 How many blue are red?

Red

Yellow

Ans X' 1.8
X 2.9
v 317
X 413

Question ID : 71939921647

Q.10 Two figures given on the left side of (::) are related with some logic/rule/relation. Select the
missing figure on the right of (::) from the given alternatives based on the same
logic/rule/relation.

o o0 [+]
?
[ +] L+ +] [+] o
Ans
X @;
[/
N
x| A\
[ Question ID : 71939921650

Q.11 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.
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Statements:
I.SomeKareT.
I.NoTis V.

Conclusions:

I.NoVisK.
Il. Some T are K.

Ans x 1. Both conclusion | and Il follows
X 2. Only conclusion | follows
J 3. Only conclusion Il follows

X 4. Neither conclusion follows

[ Question ID : 71939921642

Q.12 By folding the given paper, which of the following cube can be made?

A

K=}

Ans "1 Only Il

75 2.Bothlland Il

o 3.Bothland I
25 4.Bothland

Question ID : 71939921651

Q.13 In the following question, select the number which can be placed at the sign of question
mark (?) from the given alternatives.

16|14 9 (975

32| & |3 ?

139 | 14| 90
Ans X1 94

X 2.1135

/X 3.86

41075

Question ID : 71939921644

Q.14 Identify the diagram that best represents the relationship among the given classes.

Rat, Rodents, Snake

v'|(©o

Ans
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[ Question ID : 71939921646

Q.15 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.

AK, YP, WU, UZ, ?

Ans X1 SF
X 2.RF
W 3.SE
X 4.RE

Question ID : 71939921633

Q.16 A piece of paper is folded and punched as shown below in the question figures. From the
given answer figures, indicate how it will appear when opened?

R mEEER RS R, sErsmEEEEEsTEmEE,
H

-~
"
-
-
"
"
-

TS

FassEESEE AR

Ans

]
=0

o b

y

o220

Question ID : 71939921652

Q.17 A series is given with one term wrong. Select that wrong term from the given alternatives.
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KG5, 0C12, SY6, WU2, AQ16

Ans  of 1 KGS
X 2.AQ16
X 3.wu2
X 4.0C12

Question ID : 71939921634

Q.18 In the following question, select the odd letter/letters from the given alternatives.
Ans &X' 1 ROL

X 2.wTQ
/< 3.KHE
W 4 Bxw

[ Question ID : 71939921635

Q.19 In the following question, select the related letter pair from the given alternatives.
KLP :NHU :: ?
Ans X" 1.GRM:JVR
75 2.HOT : KKz
o 3.NLA: QHF
75 4.KRB:NNW

Question ID : 71939921637

—

Q.20 In the following question, select the related words from the given alternatives.

Glass : Drink :: Axe : ?
Ans X 1. Doctor

W 2 cut
x 3. Sand
X 4. See

[ Question ID : 71939921636

Section : General Awareness

Q.1 River Nubra is a tributary of .
Ans x 1. Brahmaputra river

x 2. Ganga river
x 3. Yamuna river

( 4. Indus river

Question ID : 71939921660

Q.2 Which of the following T. V. series has won 'Outstanding Drama Series Award' in Emmys in
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2019?
Ans “ 1. Game of Thrones

X 2. Narcos

x 3. Breaking Bad
X 4. Sacred Games

[ Question ID : 71939921668

Q.3 The reports of the CAG of India relating to the accounts of a state shall be submitted to the

Ans ( 1. Governor of the state
x 2. Chief Minister of the state
x 3. Finance Minister of the state

X 4. Chief Economic Advisor of the state

[ Question ID : 71939921670

Q.4 Kalidasa the poet and Aryabhata the astronomer were present in the court of which Indian
ruler?

Ans i 1. Chandragupta Il
x 2. Chandragupta
x 3. Samudragupta
x 4. Ashoka

[ Question ID : 71939921664

Q.5 For how many crops Minimum Support Price is announced by Cabinet Committee on
Economic Affairs?

Ans X118
X 2.30
X 312
422

Question ID : 71939921655

Q.6 The process of electroplating is based upon which of the following effect of electric
current?

Ans x 1. Magnetic effect
x 2. Non-chemical effect
x 3. Heating effect

( 4. Chemical effect

Question ID : 71939921658

Q.7 Who won the Changemaker award of Bill and Melinda Gates Foundation for running
campaign to end child labour and child marriage in 2019?

Ans “ 1. Payal Jangid

x 2. Swati Maliwal
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x 3. Greta Thurnberg
x 4. Kailash Satyarthi

[ Question ID : 71939921667
Q.8 Which of the following classical dance form belongs to Kerala?
Ans X' 1 Odissi
x 2. Kuchipudi
( 3. Kathakali
x 4. Bharatnatyam
[ Question ID : 71939921653

Q.9 The merger of the Railways Budget with the General Budget took place in
Ans  off 1 Budget 2017-18

/5 2.Budget 2016-17
/X 3.Budget 2015-16

/5 4.Budget 2018-19

Question ID : 71939921656

Q.10 Which of the following statement regarding cell organelle is incorrect?
Ans x 1. Lysosomes help to keep the cell clean by digesting any foreign material as well as

worn out cell organelle.
“ 2. Rough endoplasmic reticulum helps in the manufacture of fat molecules, or lipids.

x 3. The material synthesised near the endoplasmic reticulum is packaged and
dispatched to various targets inside and outside the cell through the Golgi apparatus.

x 4. Vacuoles are storage sacs for solid or liquid content.

[ Question ID : 71939921659

Q.11 Who founded Mohammedan Anglo-Oriental college?
Ans X 1 Abdul Ghaffar Khan

( 2. Sayed Ahmed Khan
/X 3. Shah Walliullah

x 4. Madan Mohan Malviya

Question ID : 71939921663

Q.12 Sardar Sarovar Dam, built over the Narmada, covers which of the following Indian state?
Ans X" 1 Maharashtra

X 2. Rajasthan
x 3. Madhya Pradesh

( 4. Gujrat

[ Question ID : 71939921661

Q.13 Which country won the 2019 SMM 20th Asian Senior Men's Volleyball Championship title?
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Ans “ 1. Iran
75 2. China
X 3. Singapore

25 4.India

Question ID : 71939921671

Q.14 Puhar or Kaveripattinam was the port city of which of the following ruling Dynasty?
Ans x 1. Pallava

x 2. Pandya
( 3. Chola
X 4. Chera

[ Question ID : 71939921665

Q.15 Which of the following statements regarding Himalayas is not correct?

Ans x 1. The Himalayas are geologically young and structurally fold mountains stretching
over the northern borders of India.

( 2. These mountain ranges run in an east-west direction.
x 3. Their width varies from 400 km in Kashmir to 150 km in Arunachal Pradesh.

x 4. The altitudinal variations are greater in the eastern half than those in the western
half.

Question ID : 71939921662

Q.16 Which of the following is not a part of the electoral college for the election of the President?
Ans x 1. Elected members of Lok Sabha

x 2. Elected members of State legislative Assembly
( 3. Nominated members of Rajya Sabha

x 4. Elected members of Rajya Sabha

Question ID : 71939921669

Q.17 The amount of heat energy that is required to change 1 kg of a solid into liquid at an
atmospheric pressure at its melting point is known as .

Ans x 1. latent heat of condensation
x 2. latent heat of vaporization
( 3. latent heat of fusion

x 4. latent heat of Sublimation

Question ID : 71939921657

Q.18 Who won the 2019 Formula 1 Italian Grand Prix at Monza, Italy?
Ans x 1. Lewis Hamilton

X 2. Fernando Alonso
x 3. Sebastian Vettel

( 4. Charles Leclerc
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[ Question ID : 71939921672

Q.19 In September 2019, who has been appointed as the brand ambassador of payment
technology company ‘Visa'?

Ans x 1. Amitabh Bachchan
75 2. Virat Kohli
7< 3. Alia Bhatt

o 4P V. Sindhu

[ Question ID : 71939921666

Q.20 Matsya Festival is celebrated in which city of Rajasthan?
Ans J 1. Alwar

25 2. Jaisalmer
X 3. Kota
25 4. Jaipur

Question ID : 71939921654

Section : Arithmetic Ability

Q.1 A sum of Rs. 4860 is invested at simple interest at the rate of 20% per annum. Total interest
received at the end of 6 years is x and total interest received at the end of 5 years is y. What
is the value of x - y?

Ans X 1.Rs. 912

W 2.Rs.972
/X 3.Rs. 862
75 4.Rs.872

Question ID : 71939921684

Q.2 A and B gave an exam. A got 60% marks and his marks are 84 marks more than the marks
required to pass the exam. B got 25% marks and his marks are 63 marks less than the
marks required to pass the exam. What is the required maximum marks for this exam?

Ans X' 1.360
W 2 420
X 3.580
X 4.440

[ Question ID : 71939921680

Q.3 Average of 36 values is 75. Each value is multiplied by 4. What will be the new average of
these 36 values?

Ans X 1.150
W 2300
X 3.225
X 4.175
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[ Question ID : 71939921678

Q.4 Area of a circle is equal to the area of a rectangle. Perimeter of rectangle is 150 cm. If
length is 9 cm more than the breadth, then what will be the radius of circle?

Ans (1.21 cm

/5 2.10.5¢cm
X 3.42cm
/< 4.28cm

[ Question ID : 71939921689

Q.5
_ 2+3-8x2-(5+8x4) AndEE— e B e M

5 5
then what is the value of A+B?

Ans X 1.3
X 2,31
W 3-25
X 44

If A

Question ID : 71939921675

Q.6 A boy is driving a car at the speed of 20 km/hr. He stops for 10 minutes at end of every 12
km. What will be the time taken by him to cover a distance of 80 km?

Ans X" 1.270 minutes
J 2. 300 minutes
x 3. 260 minutes
X 4. 290 minutes

[ Question ID : 71939921686

Q.7 f(p-q):(q—2r):(r—s)=3:4:7,then what is the value of (p +s) : r?

Ans X 1.2:1
X232
W33
X443

[ Question ID : 71939921682

Q.8 Profit earned on selling an article for Rs. 780 is (6/7) of the loss incurred on selling the
same article for Rs. 260. To earn a profit of 65%, what should be the selling price of this
article?

Ans X' 1 Rs. 883

X 2.Rs.913
W 3.Rs. 891

X 4.Rs. 947

@ Teachingninja.in




l Question ID : 71939921681

Q.9 The table given below shows the number of employees present in a company on different
days of a week.

Diags Number of

Emplovees
D1 1000
D2 1400
3 1800
D4 1200
135 1235
D6 1465

What is the average number of employees present for last three days of a week?
Ans  of 1 1300

X 2.1200
25 3.1000
X 4.900

[ Question ID : 71939921690

Q.10 40 men working 6 hours per day can make 450 tables in 12 days. In how many days 32 men
working 2 hours per day can make 240 tables?

Ans  of 1 24days
X 2.32days
25 3.20days
X 4.28 days

[ Question ID : 71939921687

Q.11 The line graph given below shows the number of cars manufactured by different companies

in a year.
25000 -
20000
§ 20000 1 18000
= 1
g 15000 - 12000
g 10000 -
10000
< 5000 4
0 T T T T ]
Cl C2 C3 C4 C5
Company

The difference between the number of cars manufactured by company C4 and C5 is what
percentage of the number of cars manufactured by company C1?

Ans x 1. 28 percentage
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( 2. 20 percentage
x 3. 32 percentage

x 4. 24 percentage

Question ID : 71939921692

Q.12 Which shows the correct ascending order of the given value?

X1 5,301,285
X2 5,296, 31
v f1,45,2903
X4 29645301

Ans

Question ID : 71939921673

Q.13 Rs. 8000 was to be divided among P, Q and R in the ratio of 5: 6 : 9. By mistake it was
divided among P, Q and R in the ratio of 9 : 6 : 5. What amount R has lost in the division?

Ans X" 1. Rs. 1100
75 2.Rs. 1400
X 3.Rs.800
W 4.Rs. 1600

Question ID : 71939921683

Q.14
What is the value of X: 355 +5 =5

Ans  of 1 208
X 2.120
X 3.220
X 4.225

Question ID : 71939921677

Q.15 A boat can row 80 km upstream in 12 hours and the same distance downstream in 8 hours.
What is the speed of the boat in still water?

Ans  off 1 25/3 km/hr
75 2.25/4km/hr
75 3.20/3 km/hr
25 4.25/2 km/hr

[ Question ID : 71939921685

Q.16
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Ans

What is the value of: §° =(12 5}_2'!3

X 1.300
X 2,400
/< 3.1000
W 4800

Question ID : 71939921676

Q.17 The line graph given below shows the number of gold rings sold in different cities.

Ans

g 3000 -
2500
5 2500 1 2100
3 2000 - 1700
s 1500 - 1400
= 1000
2 1000 -
g 500 4%
0 N
Cl C2 C3 C4 C5 C6
City

If the total number of gold rings sold in city C2 and C4 is equal to A and the total number of

gold rings sold in city C4, C5 and C6 is equal to B, then A is what percentage of B?
X 1. 38.45 percentage

J 2. 42.85 percentage
X 3. 46.85 percentage

x 4. 34.45 percentage

Question ID : 71939921691

Q.18
Ans

What is thevalueof 2+3x2-7+8x4-8x3+2?

1 -175
5 2,185
X 3.175
X 4.-185

Question ID : 71939921674

Q.19 Number of employees working in a company in year 2001 are 96000. If every year number
of employees are increased by 20%, then after two years how many employees will be there

Ans

in the company?

25 1.136460
W 2138240
25 3.148120
X 4.138960
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l Question ID : 71939921679

Q.20 Radius of base and height of a solid cylinder are 16 cm and 12 cm respectively. 2 identical
cylinders of radius 7 cm and height 4 cm are cut from each base of larger cylinder. What will
be the total surface area of the remaining part?

Ans

< 1. 3680 cm?

X 2. 3740 cm?

v 3 3520 cm?

X 4. 3460 cm?

[ Question ID : 71939921688

Section : General English

Q.1 Improve the bracketed part of the sentence.

She usually doesn't leave for work until she (finish) all her chores.
Ans « 1. finishes

x 2. No improvement
x 3. has finished
x 4. finished

[ Question ID : 71939921695

Q.2 Improve the bracketed part of the sentence.

Books are (ones) best friends.
Ans X" 1 ones’

f 2.0ne’s
X 3. once

x 4. No improvement

[ Question ID : 71939921696

Q.3 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Now we knows (1)/ that the Earth (2)/ goes round the sun (3)/ No error (4)

Ans X' 12
X 2.3
X 3.4
o 41

Question ID : 71939921693

Q.4 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.
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In the blues
Ans J 1. Low spirited

x 2. In a partnership usually for a dishonest reason
X 3. In small amounts at a time

x 4. To give in writing

Question ID : 71939921706

Q.5 Rearrange the parts of the sentence in correct order.

P: his shortcomings
Q: his promise to improve
R: himself shows his
S: ability to acknowledge

Ans X" 1 SRQP
/X 2.PQRS
W 3.QRsP
/X 4.SPQR

[ Question ID : 71939921700

Q.6 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

The car (1)/ was start (2)/ with great difficulty (3)/ No error (4)

Ans X' 1.3
X 2.4
W32
X 41

Question ID : 71939921694

Q.7 Rearrange the parts of the sentence in correct order.

P: enough to take

Q: she thinks

R: her own decisions
S: she is mature

Ans X' 1.QSRP
/X 2.SRQP
o 3.asPr
X 4.PRSQ

[ Question ID : 71939921699

Q.8 Choose the word that means the same as the given word.

Entire
Ans x 1. Residue

x 2. Piece
i 3. Whole
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x 4. Loud

Question ID : 71939921702

Q.9 Choose the word that is opposite in meaning to the given word.

Dilemma
Ans X' 1 Release

i 2. Confidence
/5 3. Plain
x 4. Usual

[ Question ID : 71939921701

Q.10 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans X" 1 Intellegance
x 2. Intellegence
( 3. Intelligence

x 4. Intelligance

[ Question ID : 71939921704

Q.11 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

Enlightenment

Ans X 1 has
o 2is
X 3.are
x 4. were

a state of relaxed awareness.

Question ID : 71939921698

Q.12 Choose the word that can substitute the given sentence.

A group of cattle or sheep

Ans  of 1 Herd
X 2. Grove
x 3. Torrent
X 4.Horde

[ Question ID : 71939921707

Q.13 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Hit the nail on the head
Ans X" 1.To enjoy very much

x 2. Be patient
X 3. Think only of one thing
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( 4. Done the thing correctly

Question ID : 71939921705

Q.14 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans X 1. Judgement
«2. Judgment
X 3. Judgemant
x 4. Jedgement

Question ID : 71939921703

Q.15 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

1 two brothers.
Ans x 1. am having

« 2. have
x 3. has
X 4. having

Question ID : 71939921697

Comprehension:
Read the following information carefully and answer the given questions.

Artificial intelligence is a branch of computer science that enables machines and robots to
perform tasks such as speech and visual recognition, translation of the languages and virtual
decision-making on behalf of human beings. Today, the use of artificial intelligence is not
restricted to gaming and data management. Its ambit has encompassed a variety of
applications in almost every industry, be it automobile, health, education or hospitality. People
are desperately awaiting the driverless cars of Google and Apple based on autonomous
vehicle technology, and robots have already made their entry into the health and medical
sector. The US, Japan, the UK and France are the countries which are spending billions of
dollars on the research and development of Al goods and services. Though, it is a relatively
new concept in India, both the government and research institutes are working aggressively at
using this revolutionary technology in the defense, investigation, banking and education
sectors. Innefu Labs, a Delhi-based IT an information security form, has developed a
multifactor authentication device for the security of government agencies and corporate
firms. The face and speech recognition system developed by Innefu is shielding the Reserve
Bank of India and the Defence Research and Development Organisation against various
security threats.

Various studies have confirmed that from 2015 to 2017, the Global estimated growth of robot
installations is expected to increase by 12% annually on CAGR basis. The Al industry geared
up a greater pace and the demand for engineers, architects, developers and data scientists is
increasing everyday.

SubQuestion No : 16
Q.16 Which of the following have developed driverless autonomous vehicle?

Ans & 1 Innefu Labs

75 2.DRDO

« 3. Google and Apple

25 4R8I

[ Question ID : 71939921711

Comprehension:
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Read the following information carefully and answer the given questions.

Artificial intelligence is a branch of computer science that enables machines and robots to
perform tasks such as speech and visual recognition, translation of the languages and virtual
decision-making on behalf of human beings. Today, the use of artificial intelligence is not
restricted to gaming and data management. Its ambit has encompassed a variety of
applications in almost every industry, be it automobile, health, education or hospitality. People
are desperately awaiting the driverless cars of Google and Apple based on autonomous
vehicle technology, and robots have already made their entry into the health and medical
sector. The US, Japan, the UK and France are the countries which are spending billions of
dollars on the research and development of Al goods and services. Though, it is a relatively
new concept in India, both the government and research institutes are working aggressively at
using this revolutionary technology in the defense, investigation, banking and education
sectors. Innefu Labs, a Delhi-based IT an information security form, has developed a
multifactor authentication device for the security of government agencies and corporate
firms. The face and speech recognition system developed by Innefu is shielding the Reserve
Bank of India and the Defence Research and Development Organisation against various
security threats.

Various studies have confirmed that from 2015 to 2017, the Global estimated growth of robot
installations is expected to increase by 12% annually on CAGR basis. The Al industry geared
up a greater pace and the demand for engineers, architects, developers and data scientists is
increasing everyday.

SubQuestion No : 17
Q.17 Which of the following statements is incorrect?

Ans x 1. Al is not restricted to gust giving and data management today.
K 2. Innefu developed face and speech recognition system used by RBI and DRDO.
x 3. India by 2017, has the potential to increase robot installation by 12% percent

\f 4. Xiaodu is an artificial intelligent robot developed by the Innefu Labs and India by
2017, has the potential to increase robot installation by 12 percent.

NN\
L Question ID : 71939921710

Amm—

Comprehension:
Read the following information carefully and answer the given questions.

Artificial intelligence is a branch of computer science that enables machines and robots to
perform tasks such as speech and visual recognition, translation of the languages and virtual
decision-making on behalf of human beings. Today, the use of artificial intelligence is not
restricted to gaming and data management. Its ambit has encompassed a variety of
applications in almost every industry, be it automobile, health, education or hospitality. People
are desperately awaiting the driverless cars of Google and Apple based on autonomous
vehicle technology, and robots have already made their entry into the health and medical
sector. The US, Japan, the UK and France are the countries which are spending billions of
dollars on the research and development of Al goods and services. Though, it is a relatively
new concept in India, both the government and research institutes are working aggressively at
using this revolutionary technology in the defense, investigation, banking and education
sectors. Innefu Labs, a Delhi-based IT an information security form, has developed a
multifactor authentication device for the security of government agencies and corporate
firms. The face and speech recognition system developed by Innefu is shielding the Reserve
Bank of India and the Defence Research and Development Organisation against various
security threats.

Various studies have confirmed that from 2015 to 2017, the Global estimated growth of robot
installations is expected to increase by 12% annually on CAGR basis. The Al industry geared
up a greater pace and the demand for engineers, architects, developers and data scientists is
increasing everyday.

SubQuestion No : 18
Q.18 Which of the following statements is correct with respect to Artificial Intelligence?

Ans \f 1. Artificial intelligence is a branch of computer science.

K 2. Itis a branch of biological science which integrates machines and robots to perform
certain tasks like speech, visual recognition etc.
X 3. India is pioneer in the field of Al

K 4. Itis a branch of biological science which integrates machines and robots to perform
certain tasks like speech, visual recognition etc. and India is pioneer in the field of Al.

[
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l Question ID : 71939921709

Comprehension:

Read the following information carefully and answer the given questions.

Artificial intelligence is a branch of computer science that enables machines and robots to
perform tasks such as speech and visual recognition, translation of the languages and virtual
decision-making on behalf of human beings. Today, the use of artificial intelligence is not
restricted to gaming and data management. Its ambit has encompassed a variety of
applications in almost every industry, be it automobile, health, education or hospitality. People
are desperately awaiting the driverless cars of Google and Apple based on autonomous
vehicle technology, and robots have already made their entry into the health and medical
sector. The US, Japan, the UK and France are the countries which are spending billions of
dollars on the research and development of Al goods and services. Though, it is a relatively
new concept in India, both the government and research institutes are working aggressively at
using this revolutionary technology in the defense, investigation, banking and education
sectors. Innefu Labs, a Delhi-based IT an information security form, has developed a
multifactor authentication device for the security of government agencies and corporate
firms. The face and speech recognition system developed by Innefu is shielding the Reserve
Bank of India and the Defence Research and Development Organisation against various
security threats.

Various studies have confirmed that from 2015 to 2017, the Global estimated growth of robot
installations is expected to increase by 12% annually on CAGR basis. The Al industry geared
up a greater pace and the demand for engineers, architects, developers and data scientists is
increasing everyday.

SubQuestion No : 19
Q.19 Artificial intelligence is not discussed in regards to which sector?

Ans _J 1. Cleaning

x 2. Education

x 3. Health

x 4. Automobile

Question ID : 71939921712

Comprehension:
Read the following information carefully and answer the given questions.

Artificial intelligence is a branch of computer science that enables machines and robots to
perform tasks such as speech and visual recognition, translation of the languages and virtual
decision-making on behalf of human beings. Today, the use of artificial intelligence is not
restricted to gaming and data management. Its ambit has encompassed a variety of
applications in almost every industry, be it automobile, health, education or hospitality. People
are desperately awaiting the driverless cars of Google and Apple based on autonomous
vehicle technology, and robots have already made their entry into the health and medical
sector. The US, Japan, the UK and France are the countries which are spending billions of
dollars on the research and development of Al goods and services. Though, it is a relatively
new concept in India, both the government and research institutes are working aggressively at
using this revolutionary technology in the defense, investigation, banking and education
sectors. Innefu Labs, a Delhi-based IT an information security form, has developed a
multifactor authentication device for the security of government agencies and corporate
firms. The face and speech recognition system developed by Innefu is shielding the Reserve
Bank of India and the Defence Research and Development Organisation against various
security threats.

Various studies have confirmed that from 2015 to 2017, the Global estimated growth of robot
installations is expected to increase by 12% annually on CAGR basis. The Al industry geared
up a greater pace and the demand for engineers, architects, developers and data scientists is
increasing everyday.

SubQuestion No : 20
Q.20 Which of the following is similar in meaning to encompassed?

Ans x 1. Free

x 2. Release
x 3. Exclude
{ 4. Encircle
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Question ID : 71939921713

Section : General Hindi

Q.1 Ry 7 arer & Rk T | 3fRa oreg 7ira hifsiai
Sit___ oafh gian g, ag &t @reft 7l e
Ans X1 g
X 2. et
X 3. g
W 4 oRenft

Question ID : 71939921720

Q.2 Ry 7Y g A gdam wma RSl
= 3ot gHR g A smar A
Ans X 1. frcraraes gdaTH
25 2. wsrarae gdm
W 3. sifvspraras adam
X 4. Geearae gd™

Question ID : 71939921714

Q.3 Ry g form fag A @ «raa Rig @ 9= Sl
Ans X1

X 2,

p N

W 40

Question ID : 71939921726

Q.4 gy arerit § @ 3 are 79 Hifsigl

Ans X" 1. 5f 3 qToTR Sl Fesht @l o g
25 2. arer St 3 @ @rl ok 9 g
W 3. = 88 & wRor e e 3 7@t )
25 4. e B W T i 9 TeT Bl ST ATl

Question ID : 71939921723

Q.5 Ry g are & 9 sremy wrd RS
TR greft e & i T 3@ D1
Ans X' 1 Se@
X 2.5
X 3. Eef
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o 4 & amit

Question ID : 71939921716

Q.6 2w g araai & @ My arera 5t AT
Ans X 1. wHd GHEER, HfTEE 8|
o 2. e R & T i o g
X 3. mee gEEER SR ufaHE 21
25 4. e wferar € i a8 gHgER 8|

Question ID : 71939921724

Q.7 Q7 2rez 1 gafgerh wird A
CaL|
Ans X1 s
X 2w R
W 3 @
X 4.am

Question ID : 71939921717

Q.8 2y 7y ez 1 faeiy 2reg TG RfSig)

ga&l
Ans X1 g

X 2.y
W 3 e
X 4w

Question ID : 71939921718

Q.9 fRu Wy area 7 Faifha 2Meg &1 Y= 714 HfATQI
atRRer & gadt s of )
Ans  off 1 3w qEETTE
/X 2. wem qEvars
X 3. e qevaree
25 4. = qEvaTaS

Question ID : 71939921721

Q.10 g 71q arer A ¥gifera 2reg HY T w71a FifSig)
ATSTHE <hl YEIdT T G0 AT Tgd &l hie &l
Ans X" 1 zemaree
75 2. afRerah <
JB.WHEH

75 4. quErEars g
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[ Question ID : 71939921715

Q.11 Y 71Q a1 1 h1er 7T PfSIT)
St AT 9 @]
Ans x 1. quf sjaemTet
X 2. T ydeTe
/< 3. Gfer sgepTer
(4.3@—%@%%@ forsehTe

Question ID : 71939921722

Q.12 fw 7q arerr & forg foFe ueR & farm g o1 vt faran se sira fifsial
g aganaia@ g
Ans  of 1
X2,
X3
X4.;,|

Question ID : 71939921725

Q.13 Ry v Repeum= & Iugh qgrer o1 ag+ HifSg|
oA gl A _____ awsa
Ans X' 1 wel ol oA
X 2. gem e
X 3. s
f 4 R

Question ID : 71939921728

Q.14 g g aremizn & g 3| Tfe 2rez &1 999 Al
ickeEkic
Ans X" 1 e
X 2. tueR
X 3.

W 4 faar

Question ID : 71939921719

Q.15 Ry 7T ggrer o oref Fira i)
ST A ST ST
Ans X 1. g
fz.wzggﬁ'—rr
X 3. qurREA
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X 4. < @

Question ID : 71939921727

Comprehension:

Qe eI o T &1 Terier & SR U U fAu Ty &1 Terier et ermyden Ue aeT Udidh U oh IR
faeredt & © Tgl fosed |

AT & g Sree TRy T BT STcd AT & | Ueh TR SRR 7 g1 Ty AfEseh gidm &1 gaR <real 7,
TR A & foly Wy IRR o1 14T Sifaref &1 3701 R, F701 A fchdT &t oi-H &aT &1 3feah s &
2 R gds = RN e srerf Tewer R ol U @ AT 8| @ STt AT WY ARR & forg
SAfeT STTaTh & STUTd AR ol WX @A o folq Wt S77aT AT i I &1 SaaehdT & fSrait fh
Sfa ot St o T ST g Uttt strasaeran gidt & | fagameff Sttem a=a Sfiae 6 smaRfen 8139
T H ST, hl T3 THE STedI-go) ST&d] ol AHE Sia IR TR U9Td USaTl 8| STea o are-a1y
AW 7 & Faiior fenr & Ggraes &1 fagmeff st ot ugrs & a1y @l &l SRR T HET A &
UTT: AT I & id &1 d a SR 77 a1 8 g1 guf &0 & @R g1 81 @l § Sent AFiieh @l
37T TEdT &1 & o1 forenffat &t g & oifdeh 9Rd-g3&d 81 € a1 3-8 &Y, gg=ifteran, emn o
AT TN 1 fAeRrT Sifdes gaT &1 8AR 321 § I, $8-3adh, e, G, Rl onfe emam &Y
3 gegfaal vaferd g1 e ft s &1 8t Uoh ®U 8| Hedtd, gichl, dTeliard, hasel, @l-at, fhae
3 321 o v | §1 31 A o Fafhior ey & forg ag sifiamd & 3 g9 Bt ofk Riem it &
SRTSR T Aged &

SubQuestion No : 16
Q.16 fFSeh! =aTATH AT =9 AT STTET &7

Ans X 1 e
25 2. et

25 3. Ao
4@

[ Question ID : 71939921733

Comprehension:

Qe T o T &1 Terier & SR R U AU Ty & Terier eht ereden Ue dT Uidh U oh IR
e # 9 Tel faehed g1

AT & oY Sres TaTRey T EIT Sicdd SATaTeh & | Yeh TR IR A g1 T AfEseh gidT &1 g2k el 7,
T AfEreh & oI Wy SRR o1 g4 SifAard &1 3707 IR, F701 AfRehdT ot &+ a1 &1 afees hrer @
2 R gda = FRi s srrf wawer IR o U @ AT 8| @l STt ST WY IRR & forg
Jf srmaaes & Srufd SRR ot WRel @A & oIy Wt sreyar g Y Ia-t &t sravaehar & fora s
St @t i o forg 7o g arit &t siraxaendT gidt &1 faeareff Sftem A Sftem & smeRfen g1 39
T H ST, hl TS THE STel-ge) SITGd! ol AHE Sa TR R UTa USdTl 81 ST o Ire-a1y
T A & Fatior e & Tgrre g1 faeaneff St oroi Ugrs o 91 Wl dhl SReR ST A &d &
UTT: G I & id &1 F a SR 79 a1 8 g1 gof &0 & @R g1 81 @l § Sent Aiies @l
3T BT &1 3 3= faenfal i gorn & aifdres Ixa-qxed gid & aur 399 &, wgefieran, emr S
AT TN 1 fAeRrT Sifdes gT &1 8AR 321 & I, $8-Sadh, gieT, G, aRrhl anfe sy &Y
3en ugyfaal yaferd &1 @etr +ff S ot € Ueh ¥ &1 Gedid, i, aTefiald, therge!, Ei-@l, fohche
3f 321 o v BT &1 31a: A & aftiior faer & forg g sifard & o g0 @t ofk e gt ot gt
SRTER ohT AT & |

SubQuestion No : 17
Q.17 W TeriRr a1 Sugsh it oar gim?
Ans  off 1. @cfl 7 cara @ HETE
25 2. efh e e wgwE
X 3. Rreneff shem

X 4. e & Hgd

[ Question ID : 71939921734
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Comprehension:

Qe eI o T &1 TerieT & SR R U Gy Ty § | Terier ot ereden Ue a1 Ui U oh IR
et & O el faeed T

AT & fAIg STes TRy T BT ST AT & | Ueh TR IRR H g1 Tee] Aftseh gidm &1 gaR <real 7,
T Ofesh & forT Wy RR a1 g4 Sifard &1 707 IRR, F701 AfehdT ot &7+ a1 &1 afdes el @
& R gdsi = FARi s srurf Tewer SRR ol U@ @ AT 8| @ S7dT AT WY IRR & forg
ST STTaT & AT AR ot WX T@H o folg W S7aT AT Y I &1 STaIhdT & St
Sfa et St o ol ST g Ut ht strasaesar gid & | fagameff Sftem aa sfiae 6 smaRfen 81 39
T H ST, hl T3 THE STe]-ge) STEd] ol AHE Sia IR TR UTd USaTl 8| STea o Are-ary
M 7 & Faiitor [y & Ggraes &1 fagzmeft st ot ugrs & a1y @l sl SRR T HET A &
UTT: AT I & 8id &1 d a SR 77 a1 8 g1 guf &0 & @R gid 81 @l @ S7ent Afieh @l
37T BT &1 3 3 faefial i gem # eiftren 9xd-g3ed 8id & aur I8 &4, wgaefieran, em oig
AT TN 1 fAeRrT Sifdes gaT &1 8AR 321 & FNTEF, S8-dadh, e, B, Rt anfe samamy &Y
3 gedfaal vaferd 81 e +ft ST & 81 Uoh ©U 81 Hedid, Bichl, Teliaid, hagsel, @l-a@l, fhahe
3f 21 o TR Vel &1 91 A o waftiior faer & forg g sifvard & o6 g0 St ofik e gt ot &t
RIS T Aged &1

SubQuestion No : 18
Q.18 faamff &1 A= T Y sresT |ar 8?

Ans X 1wl
75 2.7
X 3.

W ¢ Baa e d

Question ID : 71939921732

Comprehension:

Qe eI o T &1 Terier & SR U U g Ty &1 erier eht ermyden Ue a1 Udidh U oh IR
faeredt & & Tgl fahed |

I o oI STee TR T §IFT ST STERTeh ¢ | Toh Te] R H &l T¥e] HIiSh 8T 81 GER &l F,
T Afereh & oI Wy SRR a1 g4 SifAart &1 3707 IR, S701 AfRehdT ot &7+ a1 §1 afees et @
2 R gda = FRi s srerf TeRer R o U gRE AT 8| @ STt AT WY /RR & forg
SIfeT STTaT & 7T AR ol WX @ o foTg Wt ST AT T I+ &1 SaLTehdT & fSrai iR
St @t Sfi o forg 7o g arit &t siraxaend aidt &1 faegneit Sftem A e 6 smeRfer g1 39
T H ST, hl TS THE STe]-g3) STGd! ol HIHE Siia IR TR UTd USdTl 81 STea o Ire-ary
AW 7 & Faiior [ & Ggres g1 fagameft st st ugrs & a7y @l sl SRR FTAET A &
UTT: G I & id &1 d a9 SR 77 a1 9 g1 gof &0 & @R g1 81 @l § Sent Aiieh @l
31T XgdT &1 & or= foeanffat &t gam & Sifdeh 9%d-g3&d 81 € aun 3 &Y, ggafterar, emn o
AT TN 1 AR Sifdes gT &1 8RR 321 / A1, $8-Sadh, gieT, B, aRrhl onfe smamd &Y
3o gegfaal vaferd g1 e it T & €1 Uoh ©U & | Hedd, gichl, dTeliard, hagel, @l-at, fhae
31T 321 o v | §1 31 A7 o Faffior ey & forg ag sifiard & & g7 Bt ofk Riem i At &
SRTER hT AT & |

SubQuestion No : 19
Q.19 ARk It & AR gdSil 7 Fd ARR Tl WA AT §?

Ans " 1 3uft e
25 2. gl amed
25 3. arey s

of 4. PR @@

[ Question ID : 71939921730

Comprehension:

Qe eI o T &1 merier & SR UR U fRu g & erier eht eneyden Ue deT Ui Ut o IR
faeredi & € Tel faehed g1

I o oI STee TR T EIFT ST STaRTeh ¢ | Toh TRl R | g1 T@Xe] Hiedsh 8T 81 GER &l F,
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T Ay & folT Wy SRR aht 84T 3ifRard &1 21 R, S701 A ehdT @t Si7d a1 &1 afeen el &
B AR gl A TR s Srufd wwer SRR &l T @ AT ¢ | @l 31T S @Y eRR & forg
Sf ST & Srufd SRR o kel WEA o foly Wt o7oyar S i I g SraahdT & forat
St @t S & forg siier g arh Y sirasaend gt &1 faeaeff Stem A Sem dr snemfrer 81 39
I H STHT, el 715 THE STe1-gR1 SATGA ehl HIFG ST U= RA UTT ISl &1 T80 oh d1y-are
AT Ay & wafihior e & werae €1 faganef Sit sroet uerd & Ay Eell whl aReR P A 3 € 3
U IR &Y & Bid 81 § a1 SR A9 a1 § 8 guf ®U J WX §id ¢ | el & IIehT A1k W&o
37T EdT 5| 3 31 it &t gerr 7 siferes gea-g3%d sid ¢ aut 399 94, FeAxfieran, &mr S
AT TOT <A1 frehTer S1feeh E1aT 81 §HR 321 H AN, 8-, aleT, e, aerehl anfe; samam
3 UgyTaal vaferd 8| @aT +ff ST T 81 Ueh ¥U 81 [edld, gichl, ATeliaic], hagel, @i-@l, fthdhe
3T 32T o U@ © &1 37 A o Faiiior fdenrd & forg ag sifamd & foh g7 |e iR frer 2 ot gt
SRIER Sl Agcd &

SubQuestion No : 20
Q.20 e & WIY-A1Y A & fog waffor e & aar agraes g g?

Ans 1 g amed
X 2.7
X 3.uerd
of 4 amm

[ Question ID : 71939921731

Section : Discipline1

Q.1 Which of the following is correct according to Right of Education Act, 2019?

1. No child can be held back in any class or expelled till the completion of elementary
education.
11. Child cannot be denied admission for lack of proof of age.

Ans X" 1 Bothland Il

o 2.0nly!

x 3. Neither I nor Il

X 4.0onyll

Question ID : 71939921749

Q.2 According to B. S. Guha, which of the following racial elements can be traced in the Indian

population?
1. Nordic
1. Western Brachycephals
111. Mongoloid
IV. Negrito
Ans X 1.11and Il
X 2.0, and i
o 311,11 and IV
X 41and v

[ Question ID : 71939921746

Q.3 Which sociologist observed that education perpetuates the culture of dominant class and
called this phenomenon as ‘Cultural reproduction’?

Ans X" 1. Paulo Freire

« 2. Pierre Bourdieu
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x 3. John Dewey
x 4. Emile Durkheim

[ Question ID : 71939921747

Q.4 fFr=faf@a & & &= a1/ sy 98l 8/8?

1. dehefter Rt TEFITHR U &) A1 Tehdll 21
1. T ER &Y fAe darier R ercafdes T <t 81

Ans X" 1 e |
75 2. el
W 3 1@
K 4

Question ID : 71939921754

Q.5 R RiRtk dewr & orpar, i & @ s a1 4 anraTe, i o e e 82
Ans X1 g

25 2. e

X 3. e

W 4. dien

Question ID : 71939921743

Q.6 Which of the following pairs are not correctly matched?
I. Mathematical knowledge — posteriori

11. Scientific knowledge - posteriori
11l. Logical knowledge — priori

Ans " 1 Both Il and Il

75 2.Bothland Il

( 3.0nly |
75 4. onlyll

[ Question ID : 71939921751

Q.7 Which amendment added part IX related to the panchayats in the Indian constitution?

Ans X1 54
X 2.67
X 3.82
473

Question ID : 71939921750

Q.8 F=fafAda # @ &= a1 Arg Heiy qetae ey & sidifa smar g?
Ans X1 srcfir

X 2.=mn
X 3.mmar
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o 4

Question ID : 71939921745

Q.9 Which of the following are instructional materials to foster creativity in children?

I. Riddle construction
1. Mystery plots

11l. Story writing

IV. Riddle solving

Ans 3 1 11,1l and IV

25 2.1 land IV
25 3.0, lland
W 400, 1and v

[ Question ID : 71939921736

Q.10 f=faf@a & @ Fi I1 Fer | et & I FagRl & @ U 781 @ St IS fR=arei &
Jidifa mar &2

Ans  off 1 amRE aaER & uRada
7< 2. Rierh & gra-wa
25 3. wror G & uRad
25 4. mereit & uRada

Question ID : 71939921741

Q.11 Which of the following are ways to foster creativity?

I. Encourage the use of analogies
1l. Discourage curiosity

11l. Foster independence

IV. Enhance positive affect

Ans "1 1,1, Il and IV

X 2.0, and IV
W 3.1 1and v
X 40, and i

[ Question ID : 71939921739

Q.12 According to Piaget's theory, which of the following are stages of cognitive development?
I. Formal operations stage
1. Sensory motor stage

11l. Pre -operational stage
IV. Concrete operations stage

Ans 31| lland Il

X 2.0, and IV
725 3.1 land IV
W 410, 1and v

[ Question ID : 71939921735

Q.13 F=fafEa d 9 e uar 6 sifdmmm amfdrar arafae awge ar smeiif & wu d & it
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STAURUITS] i Tged TE Hed &2
Ans X 1 zem gl
25 2. seoTE o aRaw
X 3. g ok R e
o 4 s amnf

Question ID : 71939921740

Q.14 Which of the following is/are tool(s) of thinking?
I. Mind maps

11. Cognitive Research Test (CORT)
11l. Concepts

Ans " 1 Bothland Il

W 2.1 1and i

/X 3.BothIland Il
75 4.Bothland Il

Question ID : 71939921738

Q.15 Which of the following factors does NOT affect development of attitude in children?
Ans x 1. Peer group

x 2. Home

i 3. National institutions

X 4. School

[ Question ID : 71939921744

Q.16 F=fafEa & 9 fFa &t 39 ufthar & T & uRenRa fRFar s gwar @ 9 & ares | FHifa
ATaT-far @ 39 Tl aeh AR 3R A 810 el & STt &2

Ans  off 1. sreifremar
X 2. Rz (e
X 3. gt
X 4 gl

Question ID : 71939921742

Q.17 FA=faf@a & @ Hi9 9T Y TR &1 uIsashd 81 82
Ans X" 1. grwrer seTRa

X 2. RvasgE

X @R

W 4 wE T

[ Question ID : 71939921752

Q.18 Which of the following approaches have been identified by psychologists that influence
creativity?

Ans x 1. 4 B’s approach
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x 2.4 A's approach

« 3.4 P’s approach

x 4.4 S's approach

Question ID : 71939921737

Q.19 Frafafaa & & &= /@ Fu= ad /82
. UETIehiAa STfa fvem voneht @ fon= sfa & afRwhR &t gorar & gendt 21
1. Siteft ST arelt e <Rt frerrerar & Fdsr & wrenw | ges RufRoners e Ry aifdg
Ans X 1 g laTEl
o 2.1 e
X 3. &l
X 4. e |

Question ID : 71939921748

Q.20 Which of the following is NOT correct according to scheme of education proposed by
Gandhi in 1944?

Ans J 1. Post basic education from 14 to 22 years
x 2. Adult education of whole community
x 3. Pre basic schooling from 2 to 7 years

x 4. Basic schooling from 7 to 14 years

Question ID : 71939921753

Section : Discipline2

Q.1 Which imitative behaviour occurs when a child observes the model engaged in the
previously learnt deviant behaviour being rewarded for it?

Ans X" 1. Modelling effect
( 2. Dis-inhibitory effect
x 3. Inhibitory effect

X 4. Eliciting effect

[ Question ID : 71939921757

Q.2 In which of the following ways, construction of knowledge can take place in a student?
I. Connecting new idea with previous knowledge/experience
1l. Focusing on the interrelationships among concepts

11l. Forming mental images both at the initial stage of learning and mental representations
of interrelationships

Ans &1 lland I
25 2. 1and i
o 3.1 1and I
25 4. 1and

[ Question ID : 71939921761
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Q.3 fA=fafEa d @ &9 a1 yRa d e g v aRkar a8 82
251 Readiad

W 2. suRgRe

X 3.afs

7 4. sifed-ofrarg

Ans

[

Question ID : 71939921773

Q.4
Ans

fRrgror i = < fRAFY sifnm I 2a ot v et & g Ta9 IugE AT g AR H 82
X 1. e Ry
X 2. e fafy
' 3. T g Ry
X 4 Qe ge Rl

Question ID : 71939921764

Q.5 wore fAfYwr___ awcdaigdd SudiT fRar S aedar 81

|. AWTcHh STHHR UEH e
1. 3= semait & fafre wam o1 S@ffrciezor aur gRgf
1. @gifaer =it i sarear == fSQ veffa 98 forar s gaar @

v SRNECAT

75 2. & Il
X 3. e |

p AL

Ans

Question ID : 71939921763

3iform & aifdmr e Surm & Hay F Prafaf@a & @ 9 9/ sy ad &2
1. g fremff &fga faror aur 1 ardraRor e geraw Y s g

Q.6

1. og aafemTd aur siqeifthe yodres & areom @ ordf aut fRvaasga & =avor St s =T

&
v SRES TR

X 2. FE
X 3. e |
X oaa@iaan

Ans

[

Question ID : 71939921766

Q.7 Which of the following factors influence our choice of words when we speak to someone?

I. Context

1l. Climate

1. The person we are speaking to
IV. The place of conversation

Ans X1 landll
W 2.1 1and v
25 3.0, land i
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X 4land v

Question ID : 71939921772

Q.8 ___ Gare ® U Huifad g areft shert & ura Sirar g Sigl steamues faf v vear & ey o
TUT SRR Gihal T ITTNT T & a7 a7 favrasg @t srefyof o= 3@ fRrenfat w g1

Ans  off 1 oraf@rd fmaa st araraRor
75 2. vafe e armeRor
75 3. gfSman e ardreRoT
X 4. e P st Ao

[ Question ID : 71939921769

Q.9 F=faf@a & @ w9 &1 Fue heror eagr W AR s & ar | 98l &2

1. 2 Sigge WIS EaER & 3igge & g 8
1. Sferar srggper uTe g 1Y TagR & sigge & g @

Ans X 1. e |
p SRR
o 3 adiard
X 4 FE

[ Question ID : 71939921760

Q.10 wrafAe fRenaa wR & g siftvm &1 A TR (Taeee) fR=fafaa 3 @ farea & R
favg & RruffRa farar mar ar?

. TeT

1. 7ifora

. fsm=

V. yafaRor sreaa=

V. gfegre
L SRR
p SV ARIECY
25 3L may
41Ty

[ Question ID : 71939921762

Q.11 frE vahR & fdv & T9wa ol gosms & g awgei & 8vow & amasiRe & & a1y R
auT < 1 SIS gar 82

Ans X" 1. sraefie gRT i
o 2. Fxa&diad grr arfte
X 3. v qun R g siftem
X 4. sz g s

[ Question ID : 71939921758

Q.12 What type of questions are divergent questions?

Ans ( 1. Multiple correct answer question
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x 2. Both single and fixed correct answer question
x 3. Fixed correct answer question

x 4. Single correct answer question

Question ID : 71939921759

Q.13 o 9 TG S A 16, 18, 24, 28, 32 AUT 46 & 7 &1 afy 3na o=t Renf¥af &t & md g
ot &t gw TeeTeit 1 Ol HRA & fAIg Shgd &, 9t uds ffa A I8 v aw T g At e
9 UhR o A= Iuaivl o1 sreaa= oeh gx g s fAenter Tena @ for fohegl <t oo d=amait
hT TRT gAAT A & ER1T1 IURI<h YU A gH fohd UhR & dch T Sraiieh &hid &7

|. SIRTHTCHeR deh
1. FrmfAes ah

Ans  of 1 Fae
X 2. &l
p Ak
X oaa@iaadn

[ Question ID : 71939921774

Q.14 @9 |1 4T IURTH Tk fadw S wqg o1 ur & f[Sed dleraife ufthar, aafema
STATEREl, HH SR 94T Ingfas uRaifte fAfga &2

Ans  off 1 e arfte
75 2. Rueneff Ffa gurm
25 3. it &fa surm
/< 4. s S Sunmm

[ Question ID : 71939921767

Q.15 Which of the following is not true about human problems?

Ans x 1. They require patience for understanding
J 2. They can be solved without self awareness
x 3. They are very complex

x 4. They require insight for understanding

Question ID : 71939921755

Q.16 Which of the following statements are not correct regarding language?
I. There is no language without speakers

1l. Language is only a means of communication
11l. Dictionaries can be prepared without the help of any speaker

Ans &1 1 lland IIl

W 2. 11and i
X 3. 1and Il
X 41andll

Question ID : 71939921771

Q.17 MER & AR fre vehR F giga=n aafhal ) 3wa whg améifRes =me=, AT aur
S1feafh o1 IUART et & Fi g =Tt 82
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Ans X 1 geraie
X 2.
75 3. dexude
o 4. 2 fsfieran

[ Question ID : 71939921765

Q.18 Which learning method allows face to face conversation and discussions using the
computers also?

Ans J 1. Collaborative learning
x 2. Co-operative learning
x 3. Learner centred learning

x 4. Learning centred learning

[ Question ID : 71939921768

Q.19 Which strategy can be adopted by a teacher for preventing indiscipline in the classroom?

I. Engage students in a variety of tasks which are both challenging and interesting

1I. Students must be provided with clear instructions to enable them to go ahead with their
work

11l. Restrain from giving a long list of prohibitions and restrictions expected to be
maintained

Ans "1 1and Il

25 2. 1andll
X 3. 01and i
o 4.1 1and i

Question ID : 71939921770

Q.20 FAfafEa # @ i ot sifem uferar it fAtwarg &2

1. 1f T Qe 9aa ufehan &
11. s1ferT HerigE @
1. arforr gfenRe &

Ans K1 gl
X 2. 1@l
p Ak
v ORNECT

Question ID : 71939921756

Section : Discipline3

Q.1 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

More than a decade has passed since this house was
Ans 3 1 build

W 2. built
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X 3.is build
x 4. building

[ Question ID : 71939921791

Q.2 According to George Polya, which of the following is/are the kind of aims in mathematics
for school education?

I. Narrower aims
1. Broader aims

Ans  of 1 Bothlandll

x 2.0nly |
X 3.0nlyll

x 4. Neither I nor Il

[ Question ID : 71939921782

Q.3 Choose the word that means the same as the given word.

Applaud
Ans x 1. blame

( 2. praise
/X 3. health
x 4. curse

[ Question ID : 71939921787

Q.4 Tft a1 g oft T dper A oy sraeR 1w T Rrar iman 1 g sk wR ofiR-ofR i
SITET & | I8 SURIh hUH FRaTIge Afed & Sigga & (Efafad | & o & f&gia @ Ao
AT &?

Ans X" 1 gmrfieRo
/< 2. Fewrayof sawE

X 3. gadiawur & Hegafead

W 4 aftm

[ Question ID : 71939921793

Q.5 In his book Mathematical Discovery, defines problem solving as the conscious search
for some action appropriate to attain some clearly conceived, but not immediately
attainable aim.

Ans X 1.N.J.Fine

J 2. George Polya

25 3. Richard Skemp

x 4. Lev Vygotsky

[ Question ID : 71939921783

Q.6 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

They want him (1)/ to die so that they (2)/ can inherit his wealth (3)/ No error (4)

Ans X' 12
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24
X 31
X 43

Question ID : 71939921784

Q.7 Which of the following statement defines Reflective thinking?
I. Learning by experimenting with concrete materials, through experiencing ideas in various

concrete ways
11. Being able to reason with ideas without needing concrete material

Ans X" 1 Bothland Il

x 2. Neither I nor Il

x 3.0nly |
W 2. onlyil

Question ID : 71939921777

Q.8 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

To put one’s best foot forward
Ans X" 1 find or meet by chance

X 2. become cool
f 3. do one’s best

x 4. mark a score

[ Question ID : 71939921790

Q.9 Considering the broader and narrower aims of mathematics education, which of the
following is/are the major aims of mathematics education?

1. To solve mathematical problems of daily life
1. To prepare the child for higher study

Ans  of 1 Bothland i

X 2.0nlyl

x 3. Neither | nor I

X 4.onyll

[ Question ID : 71939921776

Q.10 Choose the word that can substitute the given sentence.

One who dies for a noble cause
Ans x 1. fleet

J 2. martyr
x 3. shoal
x 4. cynic

Question ID : 71939921789

Q.11 Which of the following Kohlberg’s stages of moral development comes under the level Il
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conventional morality?
I. Social contract and individual rights.

1l. Maintaining the social order.
11l. Good interpersonal relationships.

Ans  of 1 jland i

25 2.0, 1land I
X 3. 1and Il
X 41andll

Question ID : 71939921792

Q.12 Choose the word that is opposite in meaning to the given word.

Uniform
Ans  of 1 variable

x 2. open

x 3. constant

x 4. vague

[ Question ID : 71939921786

Q.13 Choose the word that can substitute the given sentence.

One vowed to a single or unmarried life.
Ans X" 1. revolution

X 2. principal
x 3. sovereign

J 4. celibate

[ Question ID : 71939921788

Q.14 While teaching a topic based on finding the amount of interest earned, a teacher announced
the formula of finding out the interest as | = PRT/100. Which method of teaching
mathematics is used by the teacher?

I. Deductive
II. Inductive

Ans  of 1 Only|
75 2. onlyl

x 3. Neither I nor II
25 4.Bothland Il

Question ID : 71939921775

Q.15 To imitate a model, which of the following is mandatory?
|. We must give attention to the model

1. Must have some way of retaining what we have seen in symbolic form
11l. Must have necessary motor skills to reproduce the behaviour

Ans X1 land I

25 2. 1and I
o 3.1 1and I
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X 41and

Question ID : 71939921794

Q.16 How can we make mathematics learning joyful?
1. By establishing linkage between concrete objects and abstract concepts in mathematics

learning
1. Use mathematical games, puzzles and stories to create curiosity among the students

Ans &1 onlyll

725 2.0nlyl

x 3. Neither I nor I
o 4. Bothiand Il

Question ID : 71939921781

Q.17 ‘Ascertaining the rate of growth of various species of plants and animals, the arrangement
of leaves in different plants and trees, the rate of heart beat and measuring blood pressure
etc. are a few examples of the use of mathematics’. The above statement represents the
combination of mathematics with which of the following?

Ans « 1. Science

X 2. History

x 3. Literature

X 4. Geography

[ Question ID : 71939921779

Q.18 Choose the word that is opposite in meaning to the given word.

Defend
Ans « 1. attack

x 2. spread
x 3. save
x 4. dual

Question ID : 71939921785

Q.19 F=faf@a & @ w9 a1 gafaRur sreag=r § nfora & SUTT 1 Teh IS18e0r 22

1. BreRtoTfAfY ger uda &Y Fars 1d HeA A e weddt @

1. TRt & T Sfga o Tger URER i g1 9F & g s, Sugin R o= g a9 &
aTg Y RSt hY smagedr gidt @

111. I=a i hemeit 7, gl et el Y RrufiRa e & siafa v &Remes o & fog

Htefea famar strar 8
Ans X" 1| g Il @

X 2. e |
W 3 &=
p A

[ Question ID : 71939921778

Q.20 af ger Proget anfgang 8, aa arfaa &) foh gam dard 6 e & faoda stor & arg a9 = 8
IR guET & fRfaf@a d @ forg fRAfY Y ggraar @ g« foran s 9ehar 82

@Teacningninia.in




Ans

X 1. smrETeH fafey
W 2. dscronere Ry
X 3. Rsdwomenss Rfy
X 4. ofediem Rfy

Question ID : 71939921780

Section : Discipline4

Q.1 f=faf@a d | o= a1 o ggr anda 82

Ans

1. AT
II. goem A
S EIE
X 2. FE
W 3.1 2N

X 4 e

[ Question ID : 71939921811

Q.2
Ans

fafarerar 6t wgea 3 forw e o = &2

o 1. sl sty
X 2. aEiRes ftve
X 3. sriaferar syftvenr
X 4. uftrareass gt

[ Question ID : 71939921810

Q.3
Ans

FrefafEa 9 @ fora o d g ar sl & er=iiwaforan anfae gift?

X L gramda s

X 2. T qon anficpa

X 3.9 gt dee

W 4 T e ST iR &R

Question ID : 71939921807

Q.4
Ans

frafaf@ea d | o a1 yafaror & uggeit § & g 181 87

< 1. e - atepfie wafao
' 2. e gafaor

X 3. e gataror

X 4.7 - R gafazor

[ Question ID : 71939921799

Q.5
Ans

What would ‘checking comprehension and the understanding of word order’ be called?

x 1. Using vocabulary prompt cards to make statements
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x 2. Matching pictures to speech bubbles
«. 3. Reading words and rearranging them to make sentences

x 4. Verifying written statements

Question ID : 71939921808

Q.6 F=fafAda # @ wiF ay/d gardaft Rreror ardraror gAY & & g gt & a1y qa 5 s=
art g e e Rrgia 82

1. ==t &t STt SrTaTst ST+ ar Rieern 78 anfe
II. F=at ot SToeft St A it AUT Geh-gER Rt gA+ & fog wenfaa favam s wnfeg

Ans 1 g laTEl
75 2. Fad |
W 3. 1@
25 4 Al

[ Question ID : 71939921812

Q.7 What is stage 1 called in productive computer session?

Ans x 1. The computer/tablet/mobile session
f 2. Before the computer/tablet/mobile session
x 3. During the computer/tablet/mobile session

x 4. After the computer/tablet/mobile session

Question ID : 71939921813

Q.8 3. ). TU. yerd GHy wel & ifdes Rerrea a9 & g Namrgr =fafEa & @ a6
nfafaforay a1 Iuzi forar i Serar g2

1. fverer BTl Bt Teh aTfeiert 99 & fAT &g Tehar @ foh 39 oR A i T i hRaT @

1. ferer BT Y ueft fAreror & fag SR & foig g Terar @ auT 1o+t sraeiier-Tiedt &t e &
forg =g werar 8

111. fr&1eR BT Yt ST YEeTehl & Uepfal a1 UATERUT & IR # AT STFhR] i hidl et &
forg &g werar 8

Ans  of 1 eIl @
X 2. Faa |
75 3.1 i1 &t
25 4 FaE

[ Question ID : 71939921796

Q.9 F=faf@a & & o= o RrwRer & gd-er aur Qe |- feren -Pen Frfeat & forvg awg & g
et &

1. g aret Tt fAerenl &t siisht & emuryd weturar g wnfgy
1. F+ft fRrerent & ure I FRAferal ofik wRl & SrgaR SR adiss @ sl R &1 @t
g =Ry

Ans  of 1 el
X o2a@iaan
X 3. e |
75 4 FaEll
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[ Question ID : 71939921803

Q.10 £.ft.qH. ursat Y gisHr T THa Ffaf@a 7 @ w14 a1 uge agwygef giar &2

1. 3 freror- arfdnmy fafdat oii Surm & snyR R £.4Y.¢9. aisr-T &l fasiga o ot e &
ar<faes Sfia & gwal sl A & Aeg wed & ofiR St TraATenes Rias &t viearfed oxa &
1. §.f.7w. & forg geaise 6t gisrr ot fAenfat f errar, 376 amfas ik sifdmm d@eaf =
31 e dhfea e Tnfgg

1. Sgar ufkom & fog g s R & SuziT R

Ans  of 1 |G
p SRR

p SRRIECHT
AR

Question ID : 71939921800

Q.11 Which skills are noticed in ‘picture dictation’ other than drawing?
Ans x 1. Reading

X 2. Singing
x 3. Speaking

( 4. Listening

[ Question ID : 71939921814

Q.12 Which of the following activities can help the learners of EVS in encouraging group work
and peer learning?

Ans X" 1. Project on EVS topic on any theme
X 2. Test on any topic of EVS
x 3. Stamp collection

( 4. Group discussion on EVS topic

[ Question ID : 71939921798
Q.13 Which criteria falls under both cognitive and cultural aspect?
Ans X" 1_lllustrations/layout
J 2. Educational potential
x 3. Content/subject matter
x 4. Level
[ Question ID : 71939921804

Q.14 fora= &Y ufehan it er<edt <1 =t | STraT 82

Ans X' 1. % T o & hiRiel i HEIRA g1 A & forq ofell T o &
W 2. 75 arftrm wfde & gan iR s s Sitear @
25 3. ga faReft o & foraer sreR Jfear 98 A F e et @
X 4. Y g1 e By AT (Y SAereT) b HIA SUET g R el

Question ID : 71939921801
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Q.15 Which of the following statements can be considered as strengths of EVS?

1. The contents of EVS are organized thematically

1l. Contents of the EVS are not drawn from the children’s own environment

11l. Provide scope for children’s expressions — Oral and written and other creative
expressions etc

Ans  of 1 Bothland I

X 2.0, land i

25 3.Bothland Il
/X 4.Both Iland Il

Question ID : 71939921797

Q.16 What are the reasons behind the Erikson's theory being a stage theory?
I. The stages refer to qualitatively different behaviour patterns

1l. The stages describe general issues
11l. The stages unfold in an invariant sequence

Ans X 1. 1and |
W 2.1, 11and
25 3.1andll
X 4 dand i

Question ID : 71939921795

Q.17 _____ Gk R i e & forg aun ueffa et & forg St glan
L S

2 EFE

X 3. wrdaid sifem

X 4dENm

[ Question ID : 71939921802

Q.18 What is included in metacognitive strategies?

I. Planning learning
11. Hypothesising

Ans 1. Only|

725 2. onlyll

X 3. Neither I nor Il
o 4.Both land I

[ Question ID : 71939921809

Q.19 Which of the following story telling techniques can be ignored?

Ans J 1. Make children sit on the floor while reading the story to them
x 2. Make comments about the illustrations and point them to focus pupil’s attention
x 3. Use gestures, mime and facial expressions

x 4. Begin with short sessions that do not demand too much from them

[
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l Question ID : 71939921805

Q.20 fA=Afafad d 4 forg 2fifer & daga st Ui a91a 95y ‘e & "gradr & wu # siffsal ek
fargarer TRIT @1 I nfAe giear 8?

Ans X 1 dter
v 25w
X 3. fora

X 4.ue

[ Question ID : 71939921806

Section : Discipline5

Q.1 According to National Curriculum Framework (NCF), (2005), Civics is replaced by which
learning area of social science curriculum at upper primary stage?

Ans X" 1.Society and polity
x 2. Social politics
X 3. Political science

f 4. Social and political life

[ Question ID : 71939921818

Q.2 Which of the following subject can be included under pure social sciences category?
Ans X' 1 Ethics

x 2. Psychology
x 3. Philosophy

( 4. Public Administration

Question ID : 71939921817

Q.3 The line segment joining any two points of a circle is known as of circle.
Ans X" 1. Diameter
( 2. Chord
x 3. Arc
X 4. Angle
[ Question ID : 71939921824

Q.4 Which of the following is/are the utility/utilities of time - lines as a learning resource in
social science?

I. Development of a sense of time

11. Used for review purposes and reinforcing learning

11l. Finding out the relationship between two periods of time
IV. Focusing the attention of an entire class on a visual device

Ans 3 1 11, llland IV

o 211, 1and v
X 3.0, and IV
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X 40, and I

Question ID : 71939921820

Q.5 feror- sifdem ufthan & AT fYeror & g @it Surm A g et gR1 Aafaf@a g @ =
ugfaat @1 IuT fRar sTrar g7

1. et @itet fafdy (sito fewmadt )
1. arfgsfa @isr Y (Meds fewrmas Aus)
1. frgitsres @tet fafYy (feefRa fewradt dus)

Ans O 1|l qur Il @

W 2.1 3
X 3 arinaet

P AL

Question ID : 71939921829

Q.6 Which of the following statements is/are correct?

I. Like terms are those terms which are not having the same algebraic factors
11. Unlike terms are those terms which are having the same algebraic factors

Ans & 1. Only |l

X 2.0nlyl

f 3. Neither I nor II

/X 4.Bothland Il

[ Question ID : 71939921826

Q.7 Which of the following is usually based on pictures?

Ans x 1. Listen and transfer information
« 2. Listen and classify
x 3. Listen and predict

x 4. Listen and guess

[ Question ID : 71939921815

Q.8 What will be the simple interest on a sum of Rs. 1500 at the rate of 15% per annum for 2
years?

Ans  of 1 Rs 450

X 2.Rs.300
/X 3.Rs. 600
/X 4.Rs.950

[ Question ID : 71939921821

Q.9 Which of the following is/are the element(s) of a map?

I. Area of a map

1l. Scale of a map

111. Title of the map
IV. Direction Indicator

Ans 3" 1.1 lland Il
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X 2.0, and IV
W 3.1, and v
X 4.0, lland IV

Question ID : 71939921816

Q.10 fA=fafad d @ &9 @ g9. €. w9, 9 Sl & GHEE & AT 87

|. arfies =ui=afeshaT & fAg sraeR
1. 9rTfoieh ®U @ Teprf aaagR a1 Weiuur AT SR Tehel AT
11l. T9. §. U9 3 & A & g ueefq & S=a a=ea

Ans B 1 |Gl
y SR
p SNl
W 4@

[ Question ID : 71939921834

Q.11 fA=faf@a d @ o /& afora & ufa s & 9w FRoTr 8/8?

1. 70T & aR # g ThRIeHS SIgHal
1. Ruffa wwa & odien 33 &1 gama)
1. &Rt & A&7 37U 31T ol ‘H' Aggy -t a1 fea a1 =

Ans &1 | qll

o 2.1 17

p SNl
X 4 FE

[ Question ID : 71939921823

Q.12 Which of the following is correct?

I. Inclusive and integrated education are same
11. In India, children with special needs tend to be perceived as children with disabilities

Ans X" 1. Bothland Il

75 2. 0nlyl

x 3. Neither I nor Il

W 2 oniyll

[ Question ID : 71939921833

Q.13 What role is/are played by a teacher in the evaluation of a planned curriculum?

1. Teacher should report the results of formal assessments as required.
1I. Teacher should share the results of assessment and progress grades with student.

Ans  off 1 Bothland Il

725 2.0nlyl
x 3.0nly Il

x 4. Neither I nor Il

Question ID : 71939921832
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Q.14 Which system has been accepted as the international standards of measurement with
seven base units for length, mass, time, temperature, electric current, luminous intensity
and amount of substance?

I. Metric system
1I. Imperial or British system

Ans &1 Onlyll

x 2. Neither | nor I

W 3.0nly1

25 4.Bothland Il

Question ID : 71939921825

Q.15 Fr=fafae & & ar famm St uferar H Rgwan(d) §/82
1. farsmr o1 31, 31 uert & gl ot i ardse st & g gey & & srawte w saiRa

g
1. s faf¥rs vt & o argar 8, Wt & 39 I8 upfa & fafw= uggett f va aafeya
3R ATUR THST YT 3T 21

Ans  of 1 |G
X 2. Fa |
X 3. &l
p R EE

Question ID : 71939921827

Q.16 FrfafEa # @ fra adien! # de ifehr stia RAfY Froaer wderor sti= fafer & =82

1. B ifdwr &, frs s & ==t a1 @Ro a1 3 Ffa w8l R |ond & it & uiepfaes
yonifert & |1 hH R 3@ &

1. G wfifehm &, Tt & «fier arepfaes fiar & fg ea= d wad gQ T Sugeh AT SR &1
T A & ¢ §T HE<d i [Nl et SAT H I A1feq

Ans O 1 g lATE Nl
25 2. Faw i
X 3. e |
o 4 1N

Question ID : 71939921830

o What will be the remainder on dividing x3+4x2+2x+2 byx+2?
Ans 112

X 2.8

X 310

W 46

[ Question ID : 71939921822

Q.18 Which of the following is NOT a source of History on the basis of availability?
Ans X" 1 Oral traditions

x 2. Archaeological sources
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J 3. Witness accounts

x 4. Literary sources

[ Question ID : 71939921819

Q.19 Which of the following activities are involved in pre-active stage of Pedagogical Analysis?
I. Stating learning outcomes

1l. Ascertaining entry competence
111. Identifying types of learning

Ans  of 1 | 1land I
/X 2.Both Iland Il
25 3.Bothland Il
/X 4.Bothland Il

Question ID : 71939921831

Q.20 In scientific learning, younger children due to their limited experiences, come up with many
impossible explanations. In which of the following ways, a teacher can assist learners to
understand this?

I. Teachers can assist learners to put forward an explanation that is verifiable.
1l. Teachers can assist learners to use concepts or ideas acquired in one situation to explain
another situation.

Ans X" 1 Neither I nor |l

75 2. onlyl
X 3.0nly |

o 4.Both land I

Question ID : 71939921828
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